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PART -1 HT-1

GENERAL INFORMATION QU AR
1.  Number in table columns are usually : 1. UEFEA: S o shie H 76T B
g
(A) Centered (A) Centered
(B) Right aligned (B) Right aligned
(C) Justified (C) Justified
(D) Left aligned (D) Left aligned @

2. In which year was “Khadi and Village 2. “arlt g mﬁ‘\@iﬂ s’ @l feg ad
AT T ?

Industry Commission”” dismissed ?

(A) 2011 (A)
(B) 2012 2
(C) 2013 )Y 2013
(D) 2014 Q D) 2014
X8
3. It is not a rewritable DVD : % 3. g€ qusedd I I | ﬂgf 2
(A) DVD-R & (A) @ H-W
(8) DVD-RAM \ ® @
(C) DVD-RW 0\ (C) Tt Ei-emETY
*

(D) DVD+RV‘\'Q (D) & &t S+ IM TG

4. Indiahas a@ border line with which 4. YRGS 9@ det o g TSt T

country ? Y o ] ?
(A) Bangladesh (A) AR
(B) China ® <
(C) Pakistan (C) wifeRE
(D) Nepal (D) U

SPACE FOR ROUGH WORK / 1% & & fo& st
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49|

81

64

Which number comes in question mark

?)?
(A)
(B)
(©)
(D)

6.  Where is the headquarters of “Indian

I\J@b&(ﬂ

4 49
27
1 f
2/
()| 4
81 64
geaTEs fag (7) & FH © ge
3T ?

Q)
(A)z‘ 9

(B)

(D)

EQ oY I fawm S W geed
FRIT?

Small Industries Development Bank” ? O
(A) Lucknow %
(B) Delhi
(C) Mumbai & (C) ga§
(D) Bengaluru \\ (D) STE
7. Where Ind1 Tribal 7. YRA I Y¥H SNSRI SE@fgs T8eH 39
Entrepreneurs mm1t was orgarused T4 A el st faRa T ?
in this state ?
(A) Sarguja (A)
(B) Bastar (B) &R
(C) Dantewada (C) Tdarer
(D) Kanker (D) hiHT
SPACE FOR ROUGH WORK / T &1E & o e
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10.

11.

Which of the following film got 2018’s

Film Fare award for best popular film ?

(A) Newton

8.

fre o § T fRew Y 2018 &1 fRe X
TR e uiger firen % fod fear T ?

(A) =T

(B) Hindi medium
(C) Jagga Jasoos
(D) Barelly ki burfy

What is K27
(A) 'Mountain
(B) Plateau
(C) Plain

(D) Island

In which of the following the name of the
District and District Headquarter is
different ?

(a) Raipur

(b) Gariaband
(c) Kabirdham
(d) Korea

(A) (a)
(B) ()

(b)
(©) ' S
© © @ ’Q

2

(c
D) @)

When did Durg become a District ?
(A) 1906 |
(B) 1956

(©) 1862

(D) 1973

Q
N

10. =8

11.

@) fedrHfeam

(C) ST STH
(D) el = wh

K2 F 8?2
(A) weId
(B) WK
(©) e
(D) =¥

(A) @ ©
® ® (©
© © @
D) @ (@

G TAESIERICIRIRIF
(A) 1906
(B) 1956
(C) 1862
(D) 1973
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12. In 2018, who amongst the following was 12. 2018 § <9 % & TE o =1 d |
made chief election commissioner of the frQ ST TR R ?
country ?
(A) Navin Chawla (A) & =mEen
(B) Ashok Lavasa (B) 3TN wramE
(C) Achal Kumar Jyoti (C) o= $uR Sifa
(D) Om Prakash Rawat (D) 379 gerer Uad
13. LIST command displays ___ 13. LIST command N~ records
records on screen. screen W
(A) Al (A)‘ All()
(B) Rest (B) A Rest*
(C) Next xt
(D) One One
14. Common Wealth games of 2022 wil QM. 2022 % TCATSH Qell i e e §
organized in which of the foll VQ g u A 2
country ? @
(A) England Q (A) I™ve
(B) Australia & (B) emeferan
(C) Scotland .\\ (C) wITS
(D) India Q ¢ (D) w4
S
15. Mahant @haSidas was ‘Ruling Chief of  15. &< urHic e farm & s (wfen
which princely state ? =) 472?
(A) Bilaigarh (A) foerdTe
(B) Sarangagarh (B) WRTTR
(©) Rajnandgaon (C) TSFrE
(D) None of these (D) T Q HI &
SPACE FOR ROUGH WORK / &% &1 & o siie
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16. Out of four Fig. A, B, C, D three are  16. Avﬁ'ﬁfﬁ?ﬂ'{ spfaal A, B, C, DA WEI T
similar in certain manner one Figure is ' . =R ﬁ g 'c'ﬁ"’f Wﬁﬁﬁ o I FHMA 1 =
different. Choose the Figure which is %ﬁl Eq| '@FvTQI
different.

" .
2 Y
@) |\ S N
___———-| k
(S [0 &
*
o | O
o O >
17. Find the missing number. \& 17. T wen 9 Ead

(A)
(B) 1532
2024

(D) 2025

&\

(B) 1532

(C) 2024

(D) 2025
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18. Which of the following is not a  18. 7 & @ &I W1 AR &l & 2

malware ?
(A) Zombie \ (A) i -
(B) Ransomware (B) R LCEN
(C) Phishing (C) fwivm
(D) SpyBot (D) e
19. Which number will replace the question 19. QQHHIHE ﬁ'-"q’ W™ HH § gen
mark (?) ?

I @9.
‘Q

(B 8 N O (B) 8
< 7 % © 7

(D) 9 6\0 (D)

20. Toeraseall th Qpermanently from 20, SREE Y U R @ @ g

O

databas

(A) (A) DELETE
(B) ERASE ’ (B) ERASE
(C) ZAP ,‘ (©) ZAP

(D) RECALL (D) RECALL

SPACE FOR ROUGH WORK / 7% &/l & & g
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21. Match the List I with List II and choose 21. G I I g frem wifse sk fe T

your answer with code given below : ETA q GE W B T HIT :

List 1 Tist 11 LB et I
(Administrative (District) ( HenEtTER W) (Ter)
Division)

(@) Sarguja (i)  Bijapur (@) IS (@) ST
(b) Bastar (i) Korba (b) &R (i)

(c) Bilaspur (iii) Surajpur (c) TommagR

(d) Durg (iv) Kawardha @ st () )t

(A) @) @) @ () (@v) () ()

® O @) @) @) 6@ O @) @ 6@

Code : | He : \‘
@ ® © (@ ;@(c) (d)

© @) @ @ ) d © @ @ @ )
(D) @v) @) @ @@ Q (D) G(v) @) @) (@)
22. Find the missing letter. \ 22, faqqm e1er A Ead

Flw Q F|W]|[oO
Al % AlT[K
E | M E | M| ?

(A) N (A) N
® X ®) X
€ D © D
(D) P (D) P

SPACE FOR ROUGH WORK / T% & & fed <mg
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23. The first Textile Factory of this state was 23. T9 U9 H YW Hul fier #Y T T
established in : -

(A) 1830 (A) 1830
(B) 1864 | i (B) 1864
© 1922 © 1922
(D) 1956 (D) 1956

24. In which country, highest direct foreign  24.  fava CEateicl 3, 2014 H yI9
investment inflows was seen‘in 2014, as faeen faw r fopm <91  waifyes

per World Bank Report 2015 ? - W7 *
L 4

(A) India ' (A @n
(B) America 'l Q

(C) China .~ h é)« ==
(D) Hongkong OQ (D) @RI

L 4

Law’. How should be t ExsilaEi HTFETQ ?

25. - In the context of ‘Procedure @: by 25. ‘fafy g wnfua i’ & deod & ‘g’
<:g cedure’ ?

(a) It should be fa1‘r @@ TE=Y _ﬁﬁ—'" ey ‘i

S

® It shouln@ . (b) ¥ ==y & =fey
() It @ edsonable () T gy e =g

(d) Tt shobid be legal (d) 39 dufTs g AR
(A) (a) 4) (a)

(B) (@) ® | (B) (@ (b)

© @ ® (© o © @ ® (@©

D) @ B @ @ - D) (@ () (© (@

SPACE FOR ROUGH WORK / % &4 & fod se
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PART - II
TECHNICAL ABILITY

UTT- 11
dhichl ArEdr

Match List - I with List - I1 and select the

26. 26. Welt - [ Gl - 11§ firemsy &R fe1 g2
correct answer using the codes given ! eI 9 W W AT :
below the list :
List - I List - II '{f;ﬁ'-l gjﬁ_n
(@) Deciduous (i)  Soft wood (a) OraTd () HeIrEH WS
(b) Conifers (i) Hard wood (b) WF & (i) FHS
(c) Endogenous (iii) Eucalyptus () Fq:yaei @?'ﬂ
(d) Exogenous (iv) Bamboo (d) 9l e @W
Codes : %qe ¢
@ O © @ (@) * @
A @ 6@ @) @) () <1> (i)
® @ O G @ (B) ; (m) (i)
© @ @ Gv) () (C G (Gv) (i)
© O @ @ G \@ 9 ) @) G
27. Identify the appropriate property of %O'Gﬁ'q TS IHYE qder SR g9E wde
aggregate measured from the Los An, % F ouR 9 A TR e @t sfaa e
abrasion test and impact test : & EIR iG] fraq adr g2
(A) Toughness and Crushing,styeng (A) TEE R HRm iy
(B) Toughness and Hardnecx (B) <HAW 3 TETH
(C) Hardness and To’ (C) TENT i TwE
(D) Hardness and % 8 strength (D) erEag iR v &y
28. Lines joining ‘m&vey station are 28. T&A &0 BT 9 'ﬁgﬁ ATt S8 1 HEl
called : - SR :
(A) Survey line (A) Geego @
(B) Base line (B) & E .
(C) Tieline (C) <& A
(D) Check line (D) <& AR
SPACE FOR ROUGH WORK / % &1 & fo&l sve
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29. Pieces of paper are used in which type of 29. HOS & HS Hl fhd W@ Bt FoHeR F
painting ? fore o foman < € 2
(A) Collage (A) wIA
(B) TFresco : (B) ThEeh!

(C) Mosaic (C) Wl
(D) None of above (D) U T I &l
30. The purpose of a “T” square is to make : 30. ‘T o SQﬁ:igqla T fopan Sran 82
(A) Plan having “T" shape (A) Uw | T" 3R B
(B) Horizontal lines parallel to each (B) i@ g Eﬁ@@%mﬁl
other ¢ . '

(C) Squares with fixed: sizes \F'f, ISREARIEE AR

(D) Angular lines with angles 30°, 45° 0)) o Y@y, f5 o7 30°, 45°
and 60° 60° % B

31. Doglegged stairs are : S OQ 31. | TERARR I Bl g
(A) Half turn @ (A) Y YAERR
(B) Quarter turn Q (B) <eTE YHMERR
(C) Straight & () Hen
(D) Three qua¢$1 (D) IF <NgE YAERR

. ;

32. Under @e éf constructions, all 32. fog EEN ¥ fmin % stetq |t AR
struc mponents shall be of 1 - hour TR H 1 -He A 1T Aftran Bt =nfen ?
fire resistance :

(A) Type-1 (A) UsR-I
(B) Type-1I (B) WHR-II
(C) Type-1III (C) UsR-III
(D) Type-1V (D) 9R-1V
SPACE FOR ROUGH WORK / T% & & fed wmrg
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33. The Rise in the floor level of the river
immediately on the upstream of a Bridge
as a result of obstruction to natural flow

———caused by the construction-of the Bridge ——

and its approaches is known as
(A) Balancer

(B) Free board

(C) Afflux

(D) Abutment

34, Instrument to transfer line to ground is :

(A) Plumb-bob
(B) Arrow

(C) Pegs

(D) Tape

35. Pick the correct sequence o Qﬂ
in the context of speed.
(A) Arterial Roads - \\tor streets -
Sub-Arterial s ¢ 'Local streets
(B) Arteria - Sub-Arterial
roads(- ector streets - Local

streets

(C) Local streets - Sub-Arterial roads -

Arterial Roads - Collector streets

(D) Arterial Roads - Local streets -
Collector streets - Sub-Arterial
roads

591 & ST & I 9IS T & TR e
H 3or, frst oIk 39 T & i & wRo
T YarE W ST STHT I el WS

% |
\Q qe
®\

(A) SR
(B) W EE

(D) I

. T @ Hefyad weld 9ghl &1 WEl ITgHH
g

(A) sRfrad U8 - FARY VR -
- g - dd §ie

(B) EfEa Is - Fa-IMehaa I -

FOTR WE - dhd Tie

() wwa ®ie - ga-AeiEd s -
mfe I - Helal €2

(D) TfEa AT - Tihdd HIE - Hele
e - ga-smefad Us

SPACE FOR ROUGH WORK / T& &td & ford sig
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36. Offset printing on paper started in : 36. TR W AEHe Tifdn fopm ad yrey gen ?
(A) 1875 (A) 1875
(B) 1904 (B) 1904 B
(C) 1884 (C) 1884
(D) 1925 (D) 1925
37. Rule of Thirds divides a picture into : 37. U e =1 fram faz =i fawfsg =@ T
(A) Three horizontal part (A) < fafos o
(B) Three vertical part (B) o7 Seater WM
(C) Three horizontal and three vertical (C) < farfasia FeAleR o |
part
(D) None of above (D) T B T
38. A metallic tape is made of : 38. TR
(A) Steel LA
(B) Invar Q TR
(©) Linen . 0 ©) fom
(D) None of above @ (D) 3T H Fig Tl
39. Pick up the correct state @e 39. fr 9 @ wél o gfe .
followings :
(A) A building is saion\‘\mt on the (A) ARG et | G gt SRe afs 39
street, when tk Q & face of any UG i g ot T SR T & 9
of its walls)ig O titg street boundary Y A B
(B) Floor Ayea o= (B) Y &AWl IR =
Total Covered Area % 100 FE IERa TEA >< 100
Plot Area W ATFA
(C) Key planis a plan drawn to a scale (C) & I Teh Q@ = & f 1: 10,000
of not less 1 in 10,000 @W%Wﬂ'{aﬁf@ﬁ?ﬁﬁﬁﬁﬁ
g
(D) Al of the above (D) ST qeft

SPACE FOR ROUGH WORK / T &md & el sme
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40. The function of cleat in a roof truss is : Bd o 24 | File H i R
(A) to support the common rafters (A) g qwRT I e Al
(B)__ to support the purlins (B) gfetd ol TR <
(C) to prevent the purlins from tilting © ofeT =l g | ek
(D) all of the above (D) Ia et
41. Inanti corrosive paints, pigment used is : 'GITTﬁ%ﬁﬁ'{H # frg fomde = suE fear
ST & 2
(A) Aluminium powder (A) TgfufEm TEet
(B) Red lead B ‘I 0
(C) Copper powder © qis gast ()
(D) None of the above (D) w@% oft
42. Canopy shall mean a cantilevered % F 7aY gR % TR folea e
projection from the face of a wall over an eteh A Frehel T Sheilers st
entrance to the building at the lintel level Q fomas:
provided further that : . 0
(A) it shall not exceed 5 square meh-% - (A) ol § 5ot W F st T8 A
in area A
(B) it shall not be allowed e than (B) TH ¥ aferk yaw gR W TE SR
one entry TR -
(©) it shall not e 8 metres (©) T W Y@ Q1.8+ § st T
beyond the b Q 7 feperan
(D) Al of (D) ST Tefi
43. Dhokra Art of this state is related to : T T 1 SR el Torad Haifta 82
(A) Bronze casting (A) Hid B |
(B) Terracotta (B) T |

(C) Modelling with clay
(D) None of above

(C) = & wArsfeTd
(D) ST H g T

SPACE FOR ROUGH WORK / 1% &d & fad sie
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44. Acrylic paints can not be mixed with the 44, Tehfork 1 frafafias 3§ @ fras @ T
following : i <1 Wehan § ?
(A)_Qil (A) 9
(B) Water colour. (B) S
(C) (A) and (B) both (C) (A) T (B) It
(D) None of above (D) ST | FE 6l
45. Anexample of an orthographic projection 45, 37 RIBIE TR S CHE] &T@W 7
1S : X

(A) A floor plan

(B) Isometric projection

(C) Perspective projection
(D) Oblique projection I EISCHES
46. If Pisstandard consistency of cement, th Q If P fai =1 9 wgadl &1 df fii= W
amount of water used to carry ouf D foran S aren /i <TRA Them % fog s/
setting time test on cement is : @ CIR:IE IR
(A) 0.65P Q (A) 0.65P
(B) 085P \& (B) 085P
(€ 045P 0\ (©) 045P
(D) 0.25P Q’ (D) 0.25P
N
47. The procesﬁfixing of small timber ~ 47. B fomX & e #l fomr & FaR W foem
battens to timber walls is known as : %! Ufshan =l 31 Fgd © ?
(A) Studding Ay =fgn
(B) Grooving (B) fein
(C) Shooting (C) ¥fém
(D) Chamfering (D) HEERT
SPACE FOR ROUGH WORK / % &1d & fas snrg
;
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48. What is the conversion factor to convert 48. Wmﬁ Wmﬁﬁmﬁﬂ

normal length to isometric length ? A 1 T TONH HAEE?
Ay 8 (A) 8

(B) 0.816 (B) 0.816

© 12 € 1.2

(D) 0.75 (D) 0.75

49. The portion of a brick obtained by cutting ~ 49. T <2 i TremRan < it H e 9 W 3

a brick lengthwise in two portions is : =1 e TR ©

(A) King Closer (A) ﬁB“T Tﬁhﬁ'{ 0
(B) Queen Closer (B)

(C) Frog ©

(D) None of the above

50. The minimum width of any lobby,
corridor or balcony in a residential
building shall be at least :

(A) 0.9 metre
(B) 2 metre

©) 4 métre /@ 4 "X
(D) 1.8 metre \ (D 1.8 HiX

51. A single coat of 1 % sity liquid 51 wﬁq&rﬁmﬁmﬁgﬁwwﬁﬁm

Bituminous lied on the Waﬁmmmﬁgﬁwﬁwﬁwﬁm
porous granulafsutface preparatory to ST T[éf Thel A9 % IR I AT I
the superior position of bituminous mix %, fod wed g

is:

(A) Tack coat (A) THAW

(B) Seal coat (B) €A

(C) Prime coat (C) WiEH A9

(D) None of the above (D) ST H Hig T

SPACE FOR ROUGH WORK / T% &4 o s
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52. The compaction factor test of concrete 52. HiIT & HIIRM Tk T | = ga

determines its : AT & ?

(A) Strength (A) THH €y

(B) Workability (B) 39l e

(C) Setting time (C) 39 9 =A
(D) ‘None of the above (D) 39l | Wi ot T

53. The size of ISO-A3 paper is : 53. ISO-A3 I9 i v@% :
(A) 560x216 (A) 560x 210
(B) 12x18 (B) 12x€)

(C©) 297x420 Q) ‘V 420
(D) 290x210 (b% 210

54. The fineness of cement can be determined 1 Yawr &1 i fear S g
by : Q
(A) Le-chatelier apparatus ¢ O (A) A-vmifeg Swheor @

(B) Vicats apparatus % (B) Tore (Vicats) 3uaewr @
(C) Pycnometer metho&Q (C) T fafy @
(D) Air-permeabili tho (D) aY-9rTE 9§

0\

55. The minimu (%I:CE between the 55. U Aeelhal Eﬁ";’h‘ﬁf@ qifET Steran wITET
outer ed% track of passing or misAl % wfed steEn % F Il Rl F
crossing vekicl8s for multicare bridge shall st =an feerata g e
be .

(A) 15m (A) 1.5 .
(B) 06 m (B) 0.6 .
(C) 12m (C) 1.2
(D) 1.0m (D) 1.0
SPACE FOR ROUGH WORK / T wE & fod wg
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56. Pick up the correct statements from the 56. =1 8 @ W& A 9T

followings :

(A) The width of landing should not be (A) wfEn F deR WE w AR § wA
less than the width of the stair. R iRkl

(B) The width of landing should be less (B) wfen =i Aer B A ?ﬁ%’lg ¥ HH
than the width of the stair. B =fEe |

(C) No stair in a public buildings shall (@) gt sAdl | e o /I @t
have a rise of less than 180 mm and Farg 180 mm | HH 3R GIHEIE 270
a tread of more than 270 mm. mm ¥ 31fee & A |

(D) Both (A) and (C) are correct. (D) (A)dH (C) I El o

57. Which among the following is not a 57. W= H QTR

\‘ T

benchmark ?

(A) GTS Benchmark (A) AT
(B) Permanent Benchmark (B)
(C) Temporary Benchmark
(D) Profile Benchmark N WrEd SeHE
58. The type of window provided on . fireg T % T I TR TH TG HIFR
sloping side of a pitched roof is called : IR
(A) dormer window \ (A) gt
(B) gable window 0\ (B) o
(C) lantern window Q ¢ <©) A
(D) corner wind \' (D) @
59. Azimuthal system of bearing is called : 59. SEGT A FHAA FUet <R <HET I € ¢
(A) Whole circle bearing (A) °u el FafT
(B) Reduced bearing (B) =H St
(C) Forward bearing (€ 3 At
(D) Backward bearing (D) W= s

SPACE FOR ROUGH WORK / % &4 & o s
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60. A Dynamic feeling from a painting is 60. e T A ifadH 89 o vy fored dar d 2
connected with :
(A) Symmetrical Arrangement (A) gHfHlq sHEe (Raafesa smEe)
(B)  Asymmetrical Arrangement (B) syHAfAfq ST
(C) Contrast (€ 9
(D) None of above (D) I H IS TRI
61. East declination is said to be : 61. qﬁ glohld el
(A) Positive (A) 5
(B) Negative (B)
(C) Equal (YT
(D) Greater 6@% q Afyen
62. The lower edge of inclined roof surface, ghl g8 Ba &l el TRl R Sierat it
provided for draining of rainwate @ FrepTet & forT s/ erman ST § 2
called as : v
(A) hip % (A) fam
(B) gables Q (B) raer
(C) ridge & ) f=
(D) eaves \ (D) ==
63. Code of N;Qor architectural and 63. SIS Ta Yo IR@v & fag aRdg
bulld@ ng refers to which code by e S % 69 =i 1 3T fHn S
Bureau 0% Indian Standards ? g7
(A) IS:972-1979 (A) IS:972- .1979
(B) 1S:1942 - 1987 (B) 1IS:1942 - 1987
(C) 15:1987 - 1942 (©) 1S5:1987 - 1942
(D) IS:962 - 1989 (D) 1S:962 - 1989
SPACE FOR ROUGH WORK / T% &/ & fod <1g
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64. French curves are used to make : 64.

(A) French plans and elevations

S wrehl 1 ST Fo g B e S § 2
(A) ¥ T TE e

(B) Regular curves with accuracy (B) STt |9 EED
(C) Irregular curved lines (C) faom TRt @
(D) Regular contour lines (D) 44 Heree @

65. The curve made up of two or more curves 65.

with a contrary flexure is :
(A)
(B)
(©)
(D)

Simple
Compound
Reverse

None of the above
66. The mortar in which cement is included

as an ingredients in addition to lime is-‘Q
known as : O

L 4

(A) Gauged mortar @
(B) Lime mortar Q

(C) Cement mortar &

(D) None of the ang\\

E )
67. To produ x at cement, it is 67.

necessary I
(A)
(B)
©)
(D)

uce the compound :
C,S (tri-calcium silicate)

G5 (di-calcium silicate)

C,A (tri-calcium aluminate)

C,AF (tetra-calcium alumino

ferrite)

FHTH TRR F WY J A7 QG Afeh
ekl QST AT IR

© o
(Db H w1 T

, forerl = 3 sTemmen Fa= 1 T 3foaa
H frremn ST §, 9 HEEr § 2

A) WHERT

(
(B) Aifirw

e TR
TG HIZR
i feRi
S H i oft T

(A)
(B)
©
(D)

i aa foie ¥ sa § g it &
HT H Y T BN § ? |

(A) C,S (Ir-Hierm fafase)
(B) €5 (er-Hfcem faferke)
C,A (Z3-hfeym Tgfe)

(©)
(D) C,AF (¥z1-Sfwwrem Tefrl Fge)
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68.

69.

70.

71.

Vertical distance between two

consecutive contour is called as :

(A) Contour interval

68.

forddl oft 1 TR T % S Healm gl
I FHE TS :

(A) TH= WA

(B)  Contour
(C) Backsight

(D) Foresight

A rail piece of less than the standard
length used in the track for closing a rail
gap is known as

(A) Rail length
(B) Rail closure

(C) Rail gauge
(D) None of the above

Fire resistance capacity of timber can ?e
increased by :

(C) Sir Abels process

(D) None of the abo N

Pixels are n@) used for :

(A) Raster Graphics

2

=)
~

( Computer Graphics
(C) Vector Graphics
(D) None of above

(A) Hot and Cold open tank P@
(B) ASCU treatment \&

69.

71.

(}) W=

(€) =W gfe
(D) 9 & gfe

& TR 9 Y
9T T I XA
? 98 X I ;M g2

@ g

%)
R\ex
9 o

SHIST ot ST AT 7o STl ST Hemel § ¢

I THS F
o fopen ST

(A) TH @ viae ga IF § @t
(B) ASCU 39=IR 9

(C) W 37ecd Uipa 9

(D) SR # #E off

freer g R W fFed e 76 e
TTE?

(A) TR Uiftmad
(B) HPX UIfFay
(C) o MipTq
(D) SR A HiE T
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o, fEsga it ATIRUS B

72. The total area under parking shall not be 72, IR & T AARA, Tt wel & maEra
less than X, % of the area of the site plus IR B X% AR Tt o GIHA B Xy %
X,% of the total covered area on all the A 7 & e ) I X, =7, X, =7
floors. Hence X; and X, should be :
(A) X;=10%, X,=10% (A) X;=10%, X,=10%
(B) X;=10%, X,=20% (B) X;=10%, X,=20%
(C) X;{=20%, X,=10% (C) X;=20%, X,=10%
(D) X,=20%, X,=20% (D) X;=20%, x2=2(®

73. The gauge that includes both clearance 73. o = fored ﬁﬂgﬁ Seeie & fvifa
for safe movement at prescribed speed T 9T G o el 8 SR
without any infringement and also i & faq aqfamzﬁ@i
represents the maximum width and AR
height to which a rolling stock can be
built \Q
(A) Loading gauge ¢ 0 (A) HFETAS
(B) Gauge Q@ (B)
(C) Construction gauge & (C) TFZRM US|
(D) None of the above | \ (D) IR H B8 o T

4 ; L 2
74. TFor concret&\t TR - 74. HHIT it & ﬁﬂ'q, el i

property of conegetd is design criteria.
(A) Compressive strength

(B) Flexural strength

(C) Crushing strength

(D) Torsional strength

(A) TEEY
(B) AR &
(C) i Y
(D) I T
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75. Which of the following is not a 75. Trmfafed # & = fawa &t 7w & fog

characteristic to measure contrast ? A TE § ?
———{A) Shape — AR )
(B) Shade (B) =M (I8)
(C) Theme (C) fawa (eftm)
(D) None of above (D) 9 | HiE T

(A) 33 ft.

76. Length of revenue chain is : 76. TS @ é&
@ e

(B) 100 ft. (BO%W

©) 150 ft. | 150 e

(D) 60 ft. Q (D) 60 ®IE

O
77. The minimum clear head r i 77. fodt ot Rara § <Aan R ¥ w0 :

staircase shall be of : &-ﬂ

(A) 2.20 metres mea Xfro the top (A) 9 foactin & waifys sacifoa wm
of the riser to the t dependent % TSI o WIS | A T 2.20 #. 6t
portion o fhg above. iy

(B) 15 ea$ured from the top (B) U0 fociin & waitys yacifaa om
of th to the most dependent % TSN % Wd | A T 1.50 . =
portion of the ceiling above. ' Egikeitey

(C) 3.50 metres measured from the top (C) Fut foefin & weifyes sEafaa wm
of the riser to the most dependent & TSN o WY | A T 3.50 . A
portion of the ceiling above. Bt =fee

(D) None of these. (D) ST H | HIE Wt 7 |
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78. The function of a base in paintis: 78.

(A) to provide a film on surface
(B) to hide imperfection of surface

(C) tomake paint of desired consistency

e § &R &1 & ¢

(A) TaE W frew 37 % faw g §

(B) WaE ¥ sryoin =i foum % fore S @
(C) H=el HEed U TR W o ford g

(D) to reduce shrinkage cracks in paint
film

79. The horizontal angle between true 79.

Meridian and Magnetic Meridian at a
place is called :

(A) Azimuth

(B) Angle of Declination

(C) Angle of Dip

(D) Magnetic Bearing

80. The maximum loads for the wheeled 80.

vehicle shall be _ for single axle

be considered for the design of a brid%e

(A) 20 tonne and 40 tonne
(B) 10 tonne and 30 tonn

(C) 30 tonne and 60 t ‘e‘
(D) 5 tonne and 1 Q

81. The Sanctua&anctum of Hindu - 81.

Temple is known as :
(A) Jagamohana
(B) Natyamandapa
(C) Mukhashala
(D) Garbha Griha

_______ for a bogie of two axles 0
.
spaced not more than 1.22 m centres to

T
(D) Rfrm i g TRAFTAFTAF
forg B

ot T W A SR PR ArERR

éwaﬂaé;«%ﬁmwm&
A) TEiHY
QO

Ml o fore SAfRan VR 36 TR
; W@év‘ﬁfl"{ AR D
Fall, e ot 1.22 0. 9§ sifyes i el
Tt Tk SR o feg 4 g = ifee
3R gt & w5 H A 4 TR Io
fesme TR w0 =few)

(A) 2027 340 &

(B) 10 7 3R 30 =

(C) 30T AR 60 A

(D) 5 FAR10HA

fig et & Horgart sruen Joew o1 w1 %
TR ?

(A) SR

(B) TEIHSY

(C) TErmen

(D) TR
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82. WCB between 90° to 180° is in which ~ 82. Tl 51 90° ¥ 180° % <ft=r ¢, e =gt
L quadrant ? | e
(A) NE (A) SW-TH
(B) SE (B) <fHo- &
(C) SW (C) cfegor - ufem
(D) NW (D) IW - U=
83. The permissible error in measurement by 83. 3T&T - WiEEg AIAT el & fa e
chain for a rough or hilly ground is : g A H fehet Ffe = ST wRdt
8?2 0
(A) 1in 100 (A) 1: 10()
(B) 1in 150 (B) &o
(C) 1in 200 0
(D) 1in 250 1:250
84. Which survey determine strata izxsiQQ. S gaw gt HE F AW ' Fruifa w3
earth crust ? €
(A) Geological % (A) &R
(B) Hydrographic /&Q (B) <A WAl
(C) Photographic \ (C) ThRI MitRE®
(D) Chain Survgmy (D) sjaeT T
R
85. The cim@opattem used in Indus ~ 85. T4y =t Teoren ¥ Fadt wiemse Y gon e
Valley Civilization was : qr:
(A) Radial (A) =
(B) Organic (B) geafea
(C) Composite (C) Them-[en
(D) Gridiron (D) HEICI)
SPACE FOR ROUGH WORK / T% &1 & fort srrg
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86.

87.

88.

89.

Any surface to which elevation are 86. Todl oft e = wellay™ = Whia foean

referred : AR

(A) Datum (A) ®T

(B) Elevation ®) S

(C) Benchmark (C) ek

(D) Levelline (D) wRI@

A wall built at the end of the slope of 87. fugt & gom & fHami EIREZSE

earthern embankment to prevent slipping a1/ a fHA W F foq @

of earth and/or pitching on SR SRR SR ¥ ?:

embankments is known as : ()

(A) Toe wall (A) = o

(B) Return wall (B)

(C) Wing wall (C @

(D) None of the above é@ﬂaﬂ T FIg Tl

The maximum tolerance in 20 m chain 20 m &t =7 H Afehan v St ¥

is:

(A) *£2mm @ (A) =2 mm

(B) +3 mm /&Q (B) *3 mm

(©) *4mm \ () x4 mm

(D) +5mm (D) +5mm

No sunshade &rmdows and 89. X 9 FH %ﬁ@é T 9% & fFR W feum
~ ventilators s rrmtted onroads less Sreifors e & f@m T Il HFHIW,

than Xmin w1d for education building. BWY GUMR &1 eTwar @ g

Hence X=7? Aqd: X=7?

(A) X=9m (A) X=9

(B) X=12m (B) X=127%

(C) X=3m (C) X=3T.

(D) X=45m (D) X =45
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90. A structure having a total length of above
6 metres and less than 60 metres between
the inner faces of the dirt walls for

90.

carrying traffic or other moving loads over
a depression or obstruction such as

channel, road or railwaysis
(A) Culvert

(B) Minor Bridge

(C) Major Bridge

(D) None of the above

91. Which of the following is used for
Lithography ?
(A) Stone
(B) Aluminium sheets
(C) Zinc sheets
(D) All of above

92. For a well-balanced design, the d1spar'
between the tension and com

91.

>

T, e 31Er Yo 7 W) STaret fsive
ST AL T Mtk STgaT 3T Tfasiiel

AR ) g0 & Feau et T S et
—firedr & ol ¥ SNl ekl & "eT
Fo gl 6 W F FW qA 60 . F FH B

1 HEAT & ?

(A) HEL

(B) IS Terst

(C) Tk for s
(D) mﬁaﬂé&ﬁo@

frfeted 8 @ feremumet § 3T
B ? \0
(A)
(B) ite
e ¥fie
7 gt

T g-Ggfer fesea % fag 2m w wdted
Y % W I AN & fo X

section modulus values of t firer el &t SISt 1 AIgEd WH BT 41180 :
pair of fish plates should b\
(A) Maximum ,\ (A) rfashan
(B) Minimum . (B) I
(C) Average \ ©) sirea
(D) None 8 th&dBove (D) ST H Hig Wt T
93. Length of Engineers chain : 93. TSR SEer H s
(A) 100 ft. (A) 100 HI2
(B) 200 ft. (B) 200 HIZ
(C) 300 ft. (C) 300 HIE
(D) 400 ft. (D) 400 w2
SPACE FOR ROUGH WORK / T® &1 & fod sg
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94. The order having un-fluted columns is : 94, 3IF-WICE HIAHI bl B B T :

(A) Tonic (A) STEfTes
(B) Doric (B) Sif™
(C) Tuscan (C) ==
(D) Corinthian (D) wIfFedT

95. Which out of the following is 95. 1S 962 - 1989 & TIER ﬁ'{ E3
conventional representation of stone as TORT G W ?
per IS 962 - 1989 ? .

(A)
(B)
— i
(©) 7
/
(D) S g

7

S
,/// ,/
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96, Vanishing point in art is not connected 96. el H faqwsrl fag (Sfafi @mE=)
with which of the following sketch ? Frfeias vartas B 9 faad gefa =&l § 2
(A) _Sketch of a Highway (A) TSR w1 T@tes
(B) Sketch of a Sea (B) wHz @I waEfes
(C) Sketch of a rectangular box (C) T AR Sl 1 [
(D) None of above (D) I H 1S &

97. The minimum size of the mezzanine floor, 97. Yook T H FI H ITAN
if it is to be used as a living room shall not Kl Y W FATH HES B
be less than : ¢
(A) 9.5 m? ) *6.5 =t wHiex § w9 T
(B) 3.5 m? é (B) 3.5 3 WX @ wH Tl
(©) 125 m? . 03 (©) 125 = HeX ¥ F9 T
(D) 155 m? Q(Z h (D) 155 =t et @ %8 T

98. The zig?ag line g\x and switch-back  98. SIOTUH= e ¥ fag -3 o iR
method for eyélopment technique fera-ae fafy, =t EELIRGERGIEE
is adopt type of alignment F TR H ST S €
of a ilyay line.

(A) Plane (A) QuAA
(B) Valley (B) weI
(C) Mountain (C) e
(D) Cross-country (D) wE-FHg!
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99. For row housing schemes, the height of 99. Ufsag 8 AHT & siald, FW B SEE

the room shall not be less than : Y 64 8l aFl wfeT

(A) 2.60 m- (A) 2.60 T ) )
(B) 3.60 m (B) 3.60 =. |
(C) 1.60 m (C) 1.60 .

(D) 450 m (D) 4.50 ™.

100. A vertical or sloping member along the 100. Wl & fHIi & wWg-amg 31 AYEl
edge of a pavement that facilitate and FR1 3T HWR S §1 AR | iR
control drainage and delineate the fraifra wtar & qen W%Eﬁ
pavement edge : A1 hel STl %7\ .

(A) Shoulder (A) &
(B) Median (B)

(C) Camber

(D) Kerb ]

~-00o0-

-00o0- &Q
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SET - A

: I SifeRd T TRl WU @ 2.00 6 l [ 2afrera 3 ¢ 100
Time for marking answers : 2.00 Hours — | Maximunt Marks 7100
e -
1. 39 weA-yfent o FeT wmt @i
URT-1 25 3
(T T ST, T A WA SR |
W11 ® 75 ek
qepfery T : g, fafeen sgaer wefaew, fafegt @y, T Tg 9-d,
ey, e oifn Hefer, whea, dfthe, ¢

ur-1 we WrT-11 it ¥
O T 1 3% 1 F 100 TH HH |
YEl F IW, @ T OMR SW-IE (w32 HIfT |

TTeTd IO 3ifRT H T 1/4 ek A
et off T F Fapad A A B 1 wE s §

OMR -3 (AE-T) = T At A SrrEET A /e 9% W
S a1 Iy Hie A1 faeree - T WeTeed oF G Bl W |

Note :
1.  This Question Bo‘()& ontains parts namely :
. 25 Marks

Part-1
General In n : General Knowledge, Computer Knowledge, Mental Ability,
Current E y rts (National & International), State General Information.

Al

Part-IQ 75 Marks
Technical Ability : Drawing, Building Construction Materials, Building Planning,
Building Rules & Bye-Laws, Road, Rail & Bridge, Surveying, Applied Art- Commercial
Art (Principles of Composition, Drawing & Painting, Materials, Media of Composition,
Sculpture, Graphics, Applied Art)

Part-I and Part-II are compulsory.

Each question carries 1 mark. All 100 questions are compulsory.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3. 1/4 mark will be deducted for each wrong Answer.
4.  Use of any type of calculator or log table and mobile phone is prohibited.
5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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